
Par* lV. Adiusfing Condensers; " Neutrodyne Plus" Models
l. Padding Condensers.

The Philco flodet 0-!S Tester rvill be ver)- satisfactorv for acl.justing the
padding condensers on the "Neutr.odyne pLus" *o.l"Lr.

Connect the antertna anrL grouncl leads from the signal generator to tii.e cor-
respondirig posts of the leceir.er. Set the signai generator aiabout 700 K.C. anci
turn on the receir.er and generator. Turn volu-" of set full "on."

Adjusi the attenuator. contr.ol on the signal generator so that tlie r.eading on
the output meter is lorv'.

Adjust each of the
until maximu.m reading

padding condensers. bv means o{ the special fibre lyrench_.
on the output meter is obtained in each case.

2. Neu*ralizing Condensers.

The "Neutr''ril1-ne Plus" moclels contain. il acLliiion to the paclding conclensers.
several oiher small condensels knol'n a.s neutr.alizing conc1."n.r"r-'r. T|&e also must
be adjusted in order for the 'ecei'er to funciion to"a maximum.

Use the same connections lor the signal genelator as abor-e clescribed..

A "dummr"' tub-e, type 226, rvill be requireci.. This is obtained b1- cutting off
one filament- pi'ong of 

', 
[.ib" of this ti-p". Lisert trrir i,,ir""i;iil';il"i"'n.r'. socket.

and- then 
-adjust the thild R.F.. t".ri*liri.rE conclensel- so ihat mininrum reaciing

is obtained on the output meter.
Repeat tiris proceclu.re rvith the seco'd ancl first R.tr. stases_. placing trre @,dummy tubeln the cor.responding socket each time.

3. Location of Adiusiing condensers 
- 

"Neutrodyne .plus" Models.
Figure No- 88 illustrates the bottom of chassis of lloclei ;1i "Neutrod.rne

PIus" receirer. Nos. I,. 2. and B are padcling conclensers.. anc1,.!-. 5 ancl o """neutlalizing condensers.

fn ]Iodels 86 and ST, "Neutrodyne Plus" Sets. the acl,iusting cond.ensers are
located on top of the. chassis.. the padding condensers being in frYonl of the main
condenser gang; anci the neutralizing conrlensers in tire back]
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